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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

USN 10MAT41
Fourth Semester B.E. Degree Examination, Dec.2013/Jan.2014
Engineering Mathematics - IV
| Tlme 3 hrs. Max. Marks:100
A Note: Answer FIVE full questions, selecting B

' at least TWO questions from each part.
E i PART — A

; 1 Employ Taylor s series method to obtain the value of y at x = 0.1 and 0. 2 for the differential
kS R e e T

% equatlon a—y—*- 2y +3e”, y(0) = 0 considering upto fourth degrea tergl. (06 Marks)
i Determine the valm of y when x = 0.1, given that y(0) = 1 a‘rld y” = x* + y* using modified
= Euler’s formula. T@;} 0.05. . U/ (07 Marks)
% Apply Adams- Bashtorth method to solve the eql;gagxon -gl— x*(1+y), given y(1) =
e X
o y(1.1)=1.233, y(1.2) = 1.548,____}1(_:1 _.__;,) = 1.9795_@@111&@ y(1.4). (07 Marks)
= Solve -a-—=1+zx 3 = —Xy, y(O) 0 z(O) =1 at x = 0.3 by taking h = 0.3. Applying
: X X
3 Runge-Kutta method of fourth order (06 Marks)
S Applying Picard’s method to campute y(] 1) from the second approximation to the solution
= of the differential equation y" +yy' =x’. Given tbgt y()=1,y'(1)=1. (07 Marks)
g Using the Mitni’s meth@d obtain an approximate selutmn at the point x = 0.8 of the problem
S d?y d N v
:g; 7 o =1-2y di : gnre *that v(0) = 0, y'(0) = O y(O 2) =0.02, ¥¢€0.2) = 0.1996,
-‘2 y(0.4) = 0. 0795 y'(0.4) =0.3937, y(0.6) = 0.1762, y'(0.6) = 0. 5689 (07 Marks)
2. Iy, el )’

3 Derive Cauchy-Rlemann equations in Cartesian form. (06 Marks)
E Gwe u v (X — y)(x + 4xy + yz) find the analytic function {(z) = u +i iv. (07 Marks)
.L';E* SN 5 2 “ 2
= , ...a._l.f:_If f(z) =u + 1v 1s an analytic function then prove that (& FE(Z) [] [5}7' f (z} |} = £'(2) |*
)
Eﬂ (07 Marks)
i -4 Find the image of the straight lines parallel to coordinate axes in z-plane under the
5, transformation w = z° . (06 Marks)

Find the bilinear transformation which maps the points z = 1, 1, =1 on to the points
w =20, 1, . (07 Marks)

eZz

Evaluate _[ ~where c isthe circle | z| = 3. (07 Marks)
: (z+1)(z+2)

lot?2
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PART - B

Find the solution of the Laplace equation in cylindrical system leading to Besseis differential

equation. (06 Marks)
|

If oo and B are two distinct roots of J4(x) = 0, then prove that IX L A0x) 3 (Bx)dx 3 0,

0

m#n. (07 Marks)

e

'Eﬁpress fix) = x* —2x° + 3x° — 4x + 5 in terms of legendre polynomial. - = = (07 Marks)

.......

"

-\..-\...

class. (111) All the 3 belongs to the same class. “““““ (06 Marks)
State and prove Baye s theorem. AV (07 Marks)
The chance that a doctar “Wlll dlagnose a disease mwtly 1s 60%. The chance that a patlent

--\..-\..

[f a patient dies, what 1s the el’fahm that disease was correctly diagnosed. (07 M arks)

s
o
W

The probability distribution of ﬁnif?‘randqm variable x is given by the following table:

X 10 2~43[4|5]6 7

px) : | 0Ky M| 2k | 3k [ k* | 2k” | 7k*+k
Find k, p(x <6), p(x 2 6), p(3 < X ﬂ%) g b (06 Marks)
Obtain the mean and vanancé’“{j‘f Poisson dlstnbutlcm (07 Marks)

P

The life-ol an electric, buib is normally distributed with average life of 2000 hours and
standard deviation of 60 hours. Out of 2500 bulbs, ﬁn&the number of bulbs that are likely
to last between 190(_) anid 2100 hours. Given that pl =7zl ] )= 0.452). (07 Marks)

Explain the ﬁ&}llowmg terms: =)

i PR
S

1) Null hgp@ﬂlesm (11) Type I and Type II error (111) C{}nﬁdﬁme limits. (06 Marks)

......

standarﬂ demau{m 3 kgs. If 80 samples consisting of 35 workers each are ch{:)sen how many

of 80 samples will have the mean between 67 and 68.25 kgs. Given p(0 < z < 2) 0.4772
and plli= z =0y =195 .~ (07 Marks)

Eleven students were given a test in statistics. They were provided additional coaching and
then a second test of equal difficulty was held at the end of coaching. Marks scored by then
in the two tests are given below.

Testd | 25 =20 11095 i (EhEsE PR IR 517 1 231 16119
Fest 11 244 19 122 4= P8 ) -2 L0 301 23] 200 17
Do the marks give evidence that the student have benefited by extra coaching? Given
to.0s(10) = 2.228. Test the hypothesis at 5% level of significance. (07 Marks)

L S
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Advanced Mathematics - 1i

i Max. Marks:160
Note: Answer any FIVE full questions. o B

[J;{)ve that sin* o + sin [3+sm s ~ © (06 Marks)
I |11, Jng, n and |,, mp, ny are direction cosines of two lines then prove that the angle
'jetw%n them is cos 0 = ||, + mymy + nyny. (07 Marks)
Find the et @ﬁla‘uon of the plane through the interaction of the plma,nes 2:{ + 3y —z=15 and
X—2y— 32-@?— —1'8 also perpendicular to the plane x +y —z = 2“ (07 Marks)
le+5:1. (06 Marks)
& o . i SO L TR
Find the equation of the; plane through the points (h 2 2) (-3, 1, -2) and perpendicular to
the plane 2x —y —z + 6 =0/~ Ay o (07 Marks)
Find the angle between the f{}ll%wmg lines: ¢}
X=2 “y=l: z-3 X y—-3 21
and ——= = —F (07 Marks)
3 1 2 2 %%ﬁ%‘a el
ﬁ%ﬁﬁ %
: LN : - -
Find the sine of the angle betwe&ﬁ}ﬁ - 21M2J+ k and b=i-2j+2k. (06 Marks)
Find the value of A if the Veeffms a=4i+6] —t&?k b=3i+10j+5k and S=—4i+5j+Ak

_.-\.---\.p\.-. '\.ﬂ-

are coplanar. RN N e (07 Marks)
Prove the followmg

i) (3a—-2b)x(4a+ 2b)— 14(:&1 +b)

ii) (22 +3b) x (M-%b) 5(a+b) /o (07 Marks)
A pamclemwes along the curve T =(t° —4t)i +(t*> +4t)j+ (8‘[ —.:rt )k Find the velocity
and %cggleration att =1 and also find their magmtude ; (06 Marks)
Find the unit normal vector to the surface xy’z" = 4 at the point (-1, -1, 2) (07 Marks)

Fmd the directional derivative of x> yz’ at (1, 1, 1) in the direction of 1+ ]+ 2I< (07 Marks)

——

Find divF and curl F, where F=x’1+vy’j+2°k . By (06 Marks)
Prove that curl grad ¢ = 0. (07 Marks)
Find the constants a, b, ¢ such that the vectorF = (x +y +az)i + (x + ¢y + 22)k + (bx + 2y~ z) e
1s 1rrotational. (07 Marks)”

Find the Laplace transform of the following:
sin 4t cos 3t
cos hat
fe  sint
1—-cost
{

(20 Marks)
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Find the inverse Laplace transform of

[54—1]

log| ——

s —1
s +1

s’ +2s+2
S

(s+1)(s+2)(s—3)

B-y'?*f_appwlying Laplce transforms, solve the differential equation

subjec:t'édfwfo the conditions y(0) = y'(0) = 0. g_,.,f*g
o dx dy AN

.
£
.....

-
o e

Solve the si'm’ iﬂageous equations —+y=sint, —+X =
> - Sl dt 3

i

3

e
B

.'\.

Given that x =1, y =0 whent = 0.
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(06 Marks)

(07 Marks)
ﬂ“i‘l...;,

(10 Marks)

. y .
0stusing Laplace transforms.
N

(10 Marks)
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Fourth Semester B.E. Degree Examination, Dec. 2013/Jan. 2014
Graph Theory and Combinatorics
, T1me 3 hrs. Max. Marks: 100"
2 Note: Answer FIVE full questions, selecting “
IR/ atleast TWO questions from each part. =~
g 4 ~
3= (PN PART - A
~ : '
= 1@ Prmfe that in every graph, the number of vertices of odd degree is even. =~ = (05 Marks)
; b. Show fkqgt a simple graph of order n = 4 and size m =7 and a complete graph of order n = 4
2 and size.m:= 5 do not exist. . (04 Marks)
5 c.: Pefine 1somt‘irghlsm of two graphs. Show that the two graphs gwen below are isomorphic.
EE Wﬁ" # e\ (0S5 Marks)
S = @4
—E = :m:;“
on | A |
o v
= f
s = :m "
2 5 Fig, G (C)
S *g d Discuss Konigsberg bridge pr{}blem “::md the solutlen of the problem. (06 Marks)
ES LE' “H“Mh ..... e
é = 2 a. Show that Kuratowski’s first graph, Ks is.non — planar. (05 Marks)
;’E; = b. Show that in a complete graph wﬂh 38 vertlces where n 1s an odd number and n > 3, there
= 0 n-—1 o)
gﬂ;; are > edge disjont Hamﬂw‘ﬂ”cycles N 7 (05 Marks)
8 {7
i % C. Define dual of a planar@xﬁl Draw the geometrlc dual of the given graph. (05 Marks)
& =
5 2 e el
Eq E... ﬁ%}%?ﬁw :
= & & M
Q © ey,
Q O *.“.3... mwﬁw
R G . 3% Fig. Q2(c) Fig. Q2(d)
§ S d Deﬁneﬁ:hromatlc number. Find P(G, 1) for the Fig. Q2(d). (05 Marks)
& o= :
;% 3 awj{.-]}eﬁne a tree. Prove that the tree with P vertices has P — 1 edges. " (06 Marks)
o0 © b.~Find all the spanning trees of the graph shown below : et
=S Gl :
23 N b &
g = ¥
o
J T
- E} il
(el E r
Fig. Q3(b)
é . (04 Marks)
5 C. anstruct an optimal prefix code for the symbols A, B, C, D, E, F, G, H, I, J that occur
% with respective frequencies 78, 16, 30, 35, 125, 31, 20, 50, 80, 3. (06 Marks)
= d. Ifatree T has four vertices of degree 2, one vertex of degree 3, two vertices of degree 4 and
one vertex of degree 5, find the number of leaves in T. (04 Marks)
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Define 1) cut set , 11) edge connectivity , iii) bridge connectivity , iv) matching with
examples. (04 Marks)
Apply Dijkstra’s algorithm to the following weighted graph shown in below Fig. Q4(b) and

determine the shortest distance from vertex ‘a’ to each of the other six vertices in the graph.
(06 Marks)

} r
 Fig. Q4(b) o . e Fig. Q4(c) J}' y
.. Using Kruskal’s algorithm, find a minimal spanning tree for the weighted graphs shown in
'“'I“lg Q4(c). . * " (05 Marks)
For the network shown in Fig. Q4(d), find the capacities of all the. c:ut—-sets between the
E‘I"[ICES a and d and hence determine the maximum flow between awand b. (05 Marks)
e ¢ )
&/ o 43 f o/
fmmit [‘\L g
o L 2 =
¢y, g Q4(d) _
;'ﬁiﬁi&_ ;i;@
& gp PART - B+
g\ ™

A woman has 11 close relativés and she wishes’ ¥t0 invite 5 of them to diner. In how many

ways can she invite them in the feﬂowmg sityations :
i) There are no restrictions on the choice
11) Two particular persons will not a?t“eﬁc d ‘separately

111) Two particular persons will IML ttend together. (06 Marks)
Find the co-efficient of x’ 4 2ih ﬁe expansion of (2}; - 3xy e 7 ) (07 Marks)

Detfine Catalan numbers. Ugmg» the MOVeS : R@é«ﬁg% x+l,yand UX, y) > (X y+ 1)

L,

find in how many ways cafi'one go from : 1)(0, 0) t%‘*’ (6 6) and not rise above the line y = x

.W““W'\-W

1) (2;.1) to (7, 6) and n@’f” rise above the line y = x — 1. 5{“@ (07 Marks)

In how many wagsﬂcan the 26 letters of the English alphabet be permitted so that none of the
patterns CAR, DOG, PUN or BYTE occurs? Ly (07 Marks)
For the posltWe ‘tegers 1,2, 3, ........ , 1 there are 11660 derﬁgements where 1, 2, 3,4, 5
appear inthefirst five positions. What is the value of n? Y (06 Marks)

.......

Four persons Py, P,, P3, P4 who arrive late for a dinner party find th&twwonly one chair at each
of five tables Ty, T,, T3, T4 and Ts in vacant. P; will not sit at T; or T, Py will not sit at T»,

Py will not sit at T3 or T4 and P4 will not sit at T4 or Ts. Find the number of ways they can

.....

~~occupy the vacant chairs. (07 Marks)
Find the generating function for the sequence 0, 2, 6, 12, 20, 30, 42, . (07Marks)
In how many ways can 12 oranges be distributed among three chlldren A B, C sothat A
gets at least four, B and C get out least two, but C gets no more than five? (06 Marks}
Define exponential generating functions. Find the exponential generating function for the
number of ways to arrange n letters selected from MISSISSIPPI. (07 Marks) ~
Find the recurrence relation and the initial condition for the sequence 2, 10, 50, 250, .......
Hence find the general term of the sequence. (06 Marks)

Solve the recurrence relation a, + a,.; — 6ap2 = 0 for n > 2 given that ag=-1 and a; = 8.
(07 Marks)
Using the generating function solve the recurrence relation a,— 3a,.; =n, n > 1 given ag = 1.
(07 Marks)

B osk ok ok o
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

USN 10CS43
Fourth Semester B.E. Degree Examination, Dec. 2013/Jan. 2014
Design and Analysis of Algorithms
TFime: 3 hrs. Max. Marks:100
Note: Answer FIVE full questions, selecting

atleast TWO questions from each part.
PART - A
1 With the help of a flow chart, explain the various steps of algorithm design and analysis

- 50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

process. #, (08 Marks)

If fi(n) € O(gl(n)) and f,(n) € O(gy(n)) prove that fi(n) + ig(n) 3 O(max {g(n), g2(n)}).
(04 Marks)

Write an algorlthm ﬁ:}r selection sort and show that the t1me comple}uty of this algorithm i1s
quadratic. | (08 Marks)

What is divide and conquer method. Show that the worst case efficiency of binary search

algorithm is 6(log n). (10 Marks)
Explain quick sort algorithm. Find the time complexity of quick sort for best case, worst
case and average case. ~ (10 Marks)

Write Krushal’s algorithm to Constmct a mmlmum spanning tree and show that the time
efficiency is O(|e|log|€]). (08 Marks)
Apply Kruskal’s algorithm to ﬁnd the min spannmg tree of the graph. (08 Marks)

Fig. Q3(b)
Write Dl]lkstra s algorithm to find single source shortest path. (04 Marks)

Write the dynamic programming algorithm to compute binomial co-efficient and obtain its

time complexity. (04 Marks)
Explain Warshall algorithm to find the transitive closure of a directed graph. Apply this
algorithm to the graph given below. - (08 Marks)

Fig. Q4(b) ' Fig. Q4(c)

State Floyd’s algorithm. Solve all pairs shortest path problem for the given graph using
Floyd algorithm. (08 Marks)
1 of 2
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PART - B

Explain decrease and conquer method, with a suitable example. (04 Marks)

Apply the DFS — based algorithm to solve the topological sorting problem for given graph.
(08 Marks)

Fig. Q3(b)
State Horspool’s algorithm for pattern matching. Apply the same to search for the pattern
BARBER in a given text. (08 Marks)

Prove that the classic recursive algorithm for the tower of Hanoi puzzle makes the minimum
number of disks moves needed to solve it. (08 Marks)
Write short notes on :

i) Tight lower bound

i) Trivial lower bound

ii1) Information theoretic lower bound. (12 Marks)

Explain how the TSP problem can be solved, using branch and bound method. (06 Marks)
Explain back-tracking concept and apply the same to n-queens problem. (08 Marks)
Solve 8 — queens problem for a feasible sequence (6, 4, 7, 1). (06 Marks)

Write short notes on :
i) Hamiltonian problem

11) M — Coloring. (10 Marks)
Explain prefix computation problem and list ranking algorithm, with suitable examples.
(10 Marks)
*k %k sk ¥ k
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Fourth Semester B.E. Degree Examination, Dec.2013/Jan.2014
UNIX and Shell Programming

Py
J.,

*wh ';

3 BIs. Max. Marks’ 100
Note: Answer FIVE full questions, selecting N
at least TWO questions from each part. { } e
"Og, PART — A NY
Desénﬁfe briefly the major features of the UNIX operating system. N (08 Marks)
Deﬁn&& ﬂﬂle With examples, explain the three categories of files Supported by UNIX.
g (06 Marks)
Briefly descrlbe : wﬂm
1) System cal’l’”@% ¢ ii) PATH iii) HOME. )Y (06 Marks)
/ 5@@? \®)
Explain the mgmﬁo@ﬂce of all the fields of /s -/ ougput Whlch of the attributes can be
changed only by the super yserT W (08 Marks)
With a neat diagram, exﬁaﬁa he three modes of m_edltor (06 Marks)
Assuming that a file’s current_"ij;%mmsmns are; m‘?‘f—i r — X r — —, specify the chmod expression
(using both relative and absolute; methods) requu*ed to change them to:
1) IWXTIWXTIWX. - . AS ¢
i) r——r m M
11) S U L R (06 Marks)
X7 s
Devise wild — card patterns tm%atch filenames;”
1) Comprising of atleast thlf%% characters Wherémthe« first char is numeric and the last char is
not alphabetic. ’”%« T i
11) With three characfﬁﬁ Sxten510ns except the ones w1tﬁ; log extension. |
111) Containing 20@4& as an embedded string except at the begmnmg or end. (06 Marks)
Explain the thre€ 3lstmct phases of process creation. How is'th¢-shell created? (08 Marks)
What are E:JiVlIDI]H]EI]’[ variables? Briefly describe any five of them“ (06 Marks)
ﬁ; o %_%w
D1st1ngu15h between hard links and symbolic links with suitable exémbles (08 Marks)
Des@” ibé the sort filter and illustrate its usage with -k, —u, —n, —r and — optlons (06 Marks)
L, Use find to locate all files named a.out and all C source files in your h(:;r%e dlrectory tree
%“‘ “and remove them interactively. f
1) Display only the names of all users who are logged in and also store the* result in
users.txt. Sond Wl Wiﬁ»
111) Invoke the vi editor w1th the last modified file. (067 Marks)
& "*"""” v
PART - B hd
Explain with suitable examples, the sed filter along with its two forms of addressing. Also
describe in brief the substitution feature provided by sed. (08 Marks)
Describe the grep filter along with any five options. (06 Marks)
1) Use sed to delete all blank lines from a file named sample.

ii) Use grep to list only the sub-directories in the current directory.

1) Replace all occurrences of the word “UNIX” with “LINUX in a file named sample.
| (06 Marks)

| of 2
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6 a. Detine a shell script. What are the two ways of runnlng a shell script? Write a shell script to
accept pattern and a file and search for the pattern in the file. | (08 Marks)
b. Explain the shell’s for loop giving the possible sources of the list. | (06 Marks)
c. Write a menu-driven shell script to perform the following:
1) List of users who are logged in.

ﬁ’i ’, 11) List of files in the current directory. Q;;}a
/ 11i) List of processes of user. ‘f} |
Wﬁfg iv) Today’s date. %%%

Mﬁw"ev) Quit to UNIX. | i}gﬂﬁ Marks)
A

7 a ]ééﬁgrgbe the awk filter with syntax and example. How are awk arrays f fferent from the

ones: uged In most programming languages? . N (08 Marks)

b. Explaint The looping constructs supported by awk. ' : %}% (06 Marks)

c. Briefly descrlbe the built-in functions supported by awk for arlth@%c and string operations.

& 06 Marks
%Q *\ v ( )

8§ a. With examples, exp]am the string handling functions Supporte by perl. (08 Marks)
b. How are split and join'used in perl scripts? 7\ (06 Marks)
c. Write a perl script to deterggne whether a year is lea% féar or not. (06 Marks)
@M%
%ﬁﬁﬁ_ .
N
iy
o fmfw
ﬂ-..-\!-.&ih%::%:"’
b "
!
e
AN
ENN b
%ﬁ& o
%ﬁ"‘y A

b -
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Fourth Semester B.E. Degree Examination, Dec.2013/Jan.2014

Microprocessors
/. Time: 3 hrs. | Max. Marks:100..\*
| :j Note: Answer FIVE full questions, selecting “’@; b
S 4 at least TWO questions from each part. % |
s = O PART — A m
5 1 a. gxplam the memory structure of Intel personal computer in detail with neat sch@ﬁlatlc
E Ve o S ({]8 Markg)
= b. Brle,ﬂy ‘explain various multipurpose registers in 8086. { Yy (06 Marks)
E c. What is feglﬁmode addressing? Explain default segment and offset reglsters (06 Marks)
8 7>, N
g 2 a. Illustrate the~ym ymemory paging mechanism in the 80386 mmmprocessor with suitable
$ 2 schematic. ¥~ . A5 (06 Marks)
EE b. Briefly explam vam@us addressing modes of 8086 with g@ le’examples. (10 Marks)
ERS c. What do the follow1§gMOV instructions accomplish? 5 "
L MOV RAX, RCX A by
£3 MOV ESP/[BSP] \\2
£ MOV AX, 2341H, R,
5 3 MOV CS, AX ¢ ‘& ‘?W | O (04 Marks)
5 3 a Write and explain machine code for ;Mns%tructlon MOV DL, [BX] (10 Marks)
£ & b. Describe the operation of each of the "fa;llowmg instruction in brief:
g % PUSHF MOVS me N D%V XCHG (05 Marks)
59 C. What is segment override preﬁx? [fustrate the same with an example. (05 Marks)
== N e
%E 4 a. Explain with an examplﬂm%w multiple if then else statement can be implemented
,: 5 using ALP. »méw 7o) (10 Marks)
EZ b. Differentiate betweenghort near and far jump mstructlons with two examples of each.
g 'Y ;; o "ﬁﬁié (10 Marks)
s 2 o N N o
23 C . PART - B e
=2 5 a Illustrate a’'simple program that uses a character strmg deﬁned wnh and display on a
3 = separate, lire. AR “’” (10 Marks)
X b. lefereﬁtlate between: Uy
E % (1) Assembler and linker (11) Public and EXTRN (111) Macros and Procedure (06 Marks)
= 3 c. Write an ALP to compute factorial of single digit positive number uﬁﬁlg recursive
:}E% O Sprocedure. & d " )04 Marks)
= a0 AR R o ‘i‘ ﬂhﬁ’
%% 6 . Explain minimum mode PINS of 8086 and minimum mode configuration of 8086 mth neat
E 3 M”‘*“ diagram. | (10 Marks)
= 2O b. Describe internal block diagram of 8288 Bus controller with explanation of each pins. N A
%O;a: . | (06 Marks)
‘i‘” c. With neat timing diagram, explain the I/O read operation. (04 Marks) +
% 7 a. With neat diagram, explain simple NAND gate address decoding logic. (10 Marks)
g b. Differentiate between Memory mapped I/O and direct I/0. (05 Marks)
% c. Briefly explain handshaking or polling with necessary diagrams. (05 Marks)
- 8 a. Explain pin-out of 82C55 along with different operational modes. (10 Marks)
b. Explain the structure of 8086 interrupt vector table with a neat diagram. (10 Marks)
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Important Note : I. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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Fourth Semester B.E. Degree Examination, Dec.2013/Jan.2014

Computer Organization
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Note: Answer FIVE full questions, selecting e
at least TWO questions from each part.
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A :
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b %

Explam with necessary block diagram the bas1e functional unit of a eemputer (10 Marks)
Explam 41:1 detall the generation of computers. (10 Marks)
Bw-Endmn and Little-Endian assignments, explain with neeeeeery ﬁgure (05 Marks)

List the name, assembler syntax and addressing functions ﬁ)f’“’ihe different addressing modes.
y \ V¥ (10 Marks)

Explain logical and arithmetic shift instructions with a@iﬁhmple. (05 Marks)
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Draw the arrangement of a smg,le bus structu:re anc‘r brief about memory mapped I/O.

_m.
el .-

Explain: 1) Interrupt enabling;¢ i1
interrupts. 2 Pa
Draw the arrangement for bus arbltratlen using a daisy chain and explain in brief.

Interrupt dlsablmg, 111) Edge triggering, with respect
(10 Marks)
(05 Marks)

Draw the hardware components neecled for cqanneetmg a keyboard to a process and explain

in brief, gt (10 Marks)
Explain the use of PCI bas i tme eemputer system with necessary figure. (05 Marks)
List the SCSI bus mgnalswﬁh their functionalities. (05 Marks)
PART - B
Draw for 1K x. I memery chip with neat figure. N (10 Marks)
Show with diagram the memory hlerarehy with respect to speed 31Ze and cost. (05 Marks)
With ﬁgure eXplam about direct mapping cache memory. (05 Marks)
Explam with figure the design of a 4-bit carry look ahead adder. T - (10 Marks)
With figure explain circuit arrangements for binary division. od (05 Marks)
IEEE standard for floating point numbers, explain. ~+..(05 Marks)
Draw and explain the single-bus organization of the data path inside a processor. (I(} Marks)
Write the control sequence for an un-conditional branch instruction. (05 Marks)
Draw the block diagram of the control unit organization and describe in brief. (05 Marks)"
Explain in brief about multiprocessor systems. (05 Marks)
Explain about memory organization in multiprocessors. (10 Marks)
What are the classifications of parallel processing? (05 Marks)
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Y (05 Marks)

.....



